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def StartClickMe 001 (self, tEvent = const.FD REVENT CLICK, tEParam = ""):
G.Collisions = 0
G.ball = 0

self.sendBroadcastP2P("1", '")
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def StartRecvBroadcast 001 (self, tEvent = const.FD LEVENT BROADCAST, _tEParam = "1"):
self.openPhysicsEngine ()
self.disableGravity()
self.moveToXYZWithTime (0, math.floor (random.uniform(-30, 30)),\
80, math.floor (random.uniform(-30, 30)), \
const.FD _WORLD_ POS)
self.Wait(0.1)

self.showResource (' B T-")
self.sendBroadcastP2P('2', '")
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def StartCondition 002(self, tEvent = const.FD LEVENT TRIGGER,\

_tEParam = "Self.checkRemoteEvent(Const.FDiREVENTicOLLISIONS,\
GEAERERAA, THUT, r)m)
G.Collisions = 1
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def StartRecvBroadcast 001 (self, tEvent = b
const.FD LEVENT BROADCAST, tEParam = "2"):
self.showResource ('8 PEBRA ")
self.openPhysicsEngine ()
self.disableGravity ()
while True:
G.ball += 10
self.setScaleWithTime (0.01, G.ball, 1)
if (Gupeng == 1) :
while (G.ball > 0):
G.ball -= 10
self.setScaleWithTime (0.01, G.ball, 1)
self.hideResource ('8 /H PER{A ")
self.sendBroadcastP2P('3', ''")
break
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def StartRecvBroadcast 001 (self, tEvent = const.FD LEVENT BROADCAST, tEParam = "3"):
self.Wait (1)
self.playAnimation (' K¥H")

self.moveToXYZWithTime (3, self.getResourceCoordinate ('™dLF ', const.FD COLTYPE X,\
const.FD_WORLD_POS), 80, \

Self.getResourceCoordinate('ﬂl]i', const.FD_COLTYPE 7, const.FD WORLD POS), LY
const.FD WORLD POS)

self.Wait (3)
self.hideResource (" 41 T-")
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